SAY / IMPROVEMENT EXAMINATION, JULY - 2022

Part — III Time : 2 Hours
GEOLOGY Cool-off time : 15 Minutes

Maximum : 60 Scores

/ General Instructions to Candidates : \
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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1

Answer any 5 questions from 1 to 9. Each carries 1 score.

Choose the correct answer from the bracket.
An igneous rock among the following is

(Shale, Marble, Schist, Gabbro)

Identify the sedimentary texture.

(rounding, holocrystalline, glassy, frothy)

Pick the odd one out :

(gypsum, magnetite, mica, graphite)

The chief ore of copper is

(chalcopyrite, hematite, monazite, galena)

Coal having the highest calorific value is

(peat, lignite, bituminous coal, anthracite)

The point on the surface of the earth directly above the focus is called the

(seismogram, epicentre, seismograph, pyroclast)

Raw material used in excel glass factory is

(monazite, clay, quartz sand, limestone)

SAY-729 2

Gx1=5)



@0Wo -1
A1 @@ 9 Qo0 CaBEElcd  ago®slene 5 ag)enemlm
DOMOHAY)®).B3600 c1PA alloo Gx1=5)
(CIOWV PBMOo (ENIVBFGIBS WMo TIOAMNDSIOTDEI®)D>.
I 80)CREUNVUIILIY OBInOOEMAET

(@094@“@8,mocﬁsm’l«s&,osﬂgg“,mocs@uo)

2. @RAINVOBUIILIGHSEIGE $IMeaIS)IN HSGHAVIGIMN DBIaOEMAET)

(CUIBIBI00,En00ER(HITVOSOLINS,NOAUI, E(2N0DTD)

3. &Qeals Mlehanailom Gloeaoms)o)d:

(ela10,00UNOOQQ,0ONH,(NIOOANQ)

4. s)aJmﬂsmg (@IWOM @RWVIIaM

(210@BCHNONIOO0Q, Ca0NHOQQY, CATMHOHTLY, Lellm)

5. 90AdmM HGeI0le: MEIMBS GHTIEHBIWILM

(allg; eleemg, milgiellmay &c3e9d],@R(®eeaLY)

6. OORAUCHMBOWBIM MO NBHSIG3 LAl IYIAN EDEAIAIBIMEITTHIENSS

TLOOMEDID) B)BHMIGIHNOT ag)MIEM al0@IIMN@).

(Mfleapodo, af)a floavadad, Mileaoan, OOAIEOIZGIAV)

7. oo POV aDIRAIDI@  DalEOUTENAM  @RAVCAPY®  QAIARIOIEM

(cemoeme)aaug“, oeag’lm%g, @SV M6eM @3, ﬂ;%goau"&%”)

SAY-729 3 P.T.O.



10.

11.

12.

13.

14.

15.

16.

17.

Graph that shows vibrations produced during an earthquake is

(seismograph, focus, seismogram, epicenter)

Velocity of S-wave in a liquid is

(0 m/s, 20 m/s, 200 m/s, 2000 m/s)

Answer all questions from 10 to 13. Each carries 1 score.

Name the following.

A seismic belt of the world.

A mineral deposit formed at the same time with the enclosing rock.

Scientists who study earthquakes.

Earthquakes that originate at depths between 0-70 km.

PART -11

Answer any 2 questions from 14 to 17. Each carries 2 scores.

Comment on the grain size of sandstone and shale.

Write any two industrial uses of mica.

Define ore and gangue.

Mention the two main chemical elements present in oil and natural gas.
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

Answer any 2 questions from 18 to 20. Each carries 2 scores.

What is disconformity or parallel unconformity ?

“The present is the key to the past.” What does this statement mean ?

List any two factors which will induce salt water intrusion in coastal areas.

PART - 111
Answer any 3 questions from 21 to 24. Each carries 3 scores.

Point out any three sources of groundwater contamination.

Write any three indicators of global warming.

Mention any three environmental impacts of sand mining.

In the context of earthquakes, what do the following terms refer to ?

(i) Magnitude

(i) Intensity

(i11)) Liquefaction

Answer any 2 questions from 25 to 27. Each carries 3 scores.

List out the basic types of metamorphism.

Write a short note on evaporate deposits.

@2 x2=4)
(3x3=9)
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Give a brief explanation on the specific conditions required for the formation of oil

pools.
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28.

29.

30.

31.

32.

33.

PART -1V
Answer any 3 questions from 28 to 31. Each carries 4 scores. Bx4=12)

Briefly describe the process of metamorphism giving emphasis to the agents of

metamorphism.

Elaborate on the origin of coal.

(i)  What does sustainable use of resources mean ?

(i)  Suggest any two strategies for the conservation of mineral resources.

Briefly explain the various effects of volcanic eruption.

Answer any 1 questions from 32 — 33. Carries 4 scores. (1x4=4)
Draw a fold and mark its

(i) Hinge

(i1)) Limb

(ii1) Axial plane

Write the differences between
(i)  Absolute dating and relative dating

(i1)) Index fossil and trace fossil
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PART -V
Answer any 2 questions from 34 to 36. Each carries 6 scores. 2x6=12)
34. With the help of a neat diagram describe a rock cycle.

35. Suggest the strategies for the mitigation of flood hazards.

36. What all steps would you recommend for reducing the vulnerability of landslides ?
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